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61- ... we had many acceptable reasons to leave the party early, they didn’t let us.
1) Since 2) When 3) While 4) If
62- Hannah had gone to sleep very difficultly; he did not switch on the lights ... wake her up.

1) so not to 2) so as not to 3) in order to 4) so as to

63- The questions were asked but the answers that he gave were completely ... to the questions.

1) irrelevant 2) particular 3) destructive 4) repetitive

64- I insisted that it was impossible to see that star clearly; specially with that ... old telescope.

1) industrially 2) extremely 3) mostly 4) willingly

65- A few years ago, NASA scientists failed to ... one of the space shuttles successfully but they

couldn’t find the reason.

1) survive 2) remove 3) prevent 4) launch



66- My father thinks I look for wrong ... when choosing a car but I don’t think he’s right.
1) strategies 2) results 3) features 4) missions
67- It is believed by many people that yoga is an effective way of ... the mind, Just like running in an
open environment.

1) reducing 2) proving 3) imagining 4) disciplining

Not all work done by children should be classified as child labor that is to be targeted for
removal. Children’s or adolescents’ ...(68)... in work that does not affect their health and
personal development or interfere with their schooling, is ...(69)... regarded as being something
positive. This includes activities such as helping their parents around the home, assisting in a
family business or ...(70)... pocket money outside school hours and during school holidays.
«..(71)..., they play an important role in children’s development, provide them with skills and
«..(72)..., and help to prepare them to be productive members of society during their adult life.

68- 1) communication 2) procedure 3) involvement 4) organization
69- 1) generally 2) irrelevantly 3) fortunately 4) regularly
70- 1) creating 2) causing 3) earning 4) releasing

71- 1) While may be really boring these kinds of activities
2) These kinds of activities while may be really boring
3) May be really boring these kinds of activities while
4) Whereas these kinds of activities may be really boring
72- 1) experience 2) mechanism 3) presentation 4) occasion

Psychology recognizes two types of research, experimental and differential. The former is
concerned mainly with the overall processes governing human activities, and the latter set out to
establish individual differences in performance. More recent studies have shown the need for a
third type of psychological study, namely, that which has to do with human development.
Rather than considering this aspect of human performance as a part of the first two types,
scientists have noted that developmental research indeed belongs in a separate category in and
of itself. Piaget’s work would indisputably fall in the area of developmental theories that have
had a great effect on both experimental and differential research. When examining piaget’s
studies, it is necessary to keep in mind that, while his theories have been highly influential, his
methodology has been storongly criticized. The primary shortfall of his work had to do with a
lack of definition and standardization in his date and experiment design.

73- Which of the following is NOT mentioned in the passage as a type of psychological research?
1) Differential 2) Influential 3) Experimental 4) Developmental
74- The phrase “the former” in line 1 refers to ... .

1) research 2) psychology 3) experimental 4) differential



75- The author states that Piaget's theory is ... .

1) fully valid 2) somehow problematic

3) based on well-defined data 4) not based on any experiments

76~ The word “shortfall” in line 10 is closest in meaning to ... .

1) issue 2) cause 3) importance 4) weakness

Today, millions of people want to learn or improve their English but it is difficult to find the
best method. Is it better to study in Britain or America or to study in your own country?

The advantages of going to Britain seem obvious. Firstly, you will be able to listen to the
language all the time you are in the country. You will be surrounded completely by the language
wherever you go. Another advantage is that you have to speak the language if you are with
other people. In Italy, it is always possible, in the class, to speak Italian if you want to and the
learning is slower.

On the other hand, there are also advantages of staying at home to study. You don’t have to
make big changes to your life. As well as this, it is also a lot cheaper than going to Britain but it
is never possible to achieve the results of living in the UK. If you have a good teacher in Italy, I
think you can learn in a more concentrated way than being in Britain without going to a school.

So, in conclusion, I think that if you have enough time and enough money, the best choice is to
spend some time in the UK. This is simply not possible for most people, so being here in Italy is
the only viable option. The most important thing to do in this situation is to maximize your
opportunities: to speak only English in class and try to use English whenever possible outside

the class.

77- What is the passage mainly about?

1) How many people learn English 2) The most important thing to do
3) English schools in England and America 4) The best way to learn English

78- What is one of the advantages of going to the UK to learn English?

1) There are no Italians in Britain.
2) You will have to speak English and not your language.
3) The language schools are better.

4) You can use English inside the class.

79- By staying in your country to learn English, ...

1) teachers behave well toward you. 2) you have to work too hard in Britain.

3) your life can continue more or less as it was before. 4) you will be surrounded completely by English.

80- People who don't have a lot of time and money should ... .

1) learn English in Britain 2) try to speak English in class more often
3) go to Italy to learn English 4) stop learning English very soon
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